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6. OMR SW W% 58§ Wien Jethn & a7v 7a1 & | 4 gy 6. The OMR Answer Sheet is inside this Test Booklet. When
W gt e s S, Ft I 95 e w7 you are directed to open the Test Booklet, take out the-
o F S T U | oo wy | Answer Sheet and fill in the particulars carefully with blue

Y

7. S T SR 3 RN W st @t 1/3 ST St s | e ball point pen only.

IW F ARG 3YE I awar et o U F UF W Hys | | 7. 1/3 part of the mark(s) of each question will be
TR E | el o e @ Wiy et a1 gae =t @t Brs ded‘ucted for each wrong answer, A WIONg answer means
TR SO A€ W SR . an Incorrect answer or more than one answers for any

H ; . question. Leaving all the relevant circles or bubbles of any

8. AR B ST R I qu et #iet 7 ol question blank will not be considered as Wrong answer,

v ¢ I.Qﬁr : “\% o ﬂ-‘cﬁ % ',! e 8. Mobile Phone or any other electronic gadget in the
Faercit & < s foew gmain grr fomn THR FRaE! & examination hall is strictly prohibited, A candidate found
RIEL , with any of such objectionable material with him/her will be

9. FHY AT U V& MURAN, THF 0T I ns‘r strictly dealt as per rules.

o | TeI St 31"{01‘ TS T T ] 5 aiwaa‘a AT 9. Please correctly fill your Roll Number in O.M.R. Sheet.
AT i o _ 5 Marks can be deducted for filling wrong or incomplete Roll

10. % forlt ot o el e W Y o e e w Mymbis,

e B @ mer F =t ST TR F ¥ sfR I 10. If there is any sort of ambiguity/mistake either of printing or
g factual nature then out of Hindi and English Version of the
B § question, the English Version will be treated as standard

e . i 3 uestion, glish Version wi iy ' .

¥ : R T &T mw%ﬁm i ng Warning : If a candidate is found copying or if any unauthorized
fre i 3 - § ﬁwﬁ S 3 o i s fandt = material is found in hisfher possession, FL.R. would be lodged

ot 3t g e against him/her in the Palice Station and he/she would liable to be
| Wg_\?‘“ﬂ T snedt ;ﬁ?ﬂ: H & At fam w5t prosecuted. Department may also debar him/her permanently

HHET TR ferfSier = wper & from all future examinations

[ welm e e >
S TR TehT H 7l e = et STl ek a1 T AT | |
| Do not open this Test Booklet until you are asked to do so. P

03 o NI



9
1. [ﬁ_%J F TR A AT IEER
2 x
W 2 @ —5=
x8 JCS
@ 2 @ =
© P
a b c
b ¢ a| AW BOMHS B AR

(1) a,b, c ¥ATHH &l |
(2) a, b, c AITHS &l |
(3) @+b+c) AR |
(4) a,b,cHHE N |

010 5
anefz 2 2[5
_464 __10
[1 3 5/ .
C=l2 4 SNE fz]qa

D = (AB)C & @ =g D # ds,
TR &

(1 o @) 12

3) -42.. @) 1

(—Déwaﬁ‘éwm%:

T+y=3 =1+4/3
(D > (2). >
—-1-+/3
(3) 2[ 4) 1
e (B2=2x+ 1) (x+ DI4FH YR H x11
W%
(1) (3)(4Cyp) (2) (<2) (#Cyp)
(3) 14Cy, (4) 4368

e 2)9
, the

In the expansion of (?—?

third term from the end is :

1 -”TSZ @ “1;52
X X
TR @y =
P X
a b ¢

" The value of |b ¢ a | will be negative

c a b
if
(1) a,b, c are positive.
(2) a,b,care negative,
(3) (a+b+c)is zero.
(4) a, b, c possess any value.

7 gl et

If A= 0 3 ol B = (=3 .21,

-1 0

4 0 4 _ -
[1.3- 85 224

e = and
12 4 -5 -4 -2

D = (AB)C, then ds, in the matrix D is

(1 o ; (2) 12

(3) -42 @) 1

1
One of the values of (-1)3 is:

14+/<3 1443
(1) 5 (2) >
osff
(3) 2[ -@4) 1

The co-efficient of x!! in the expansion
of B3x2-2x+ 1) (x + 1)14is ;
M GYCy) @) 2)(4Cyp)
(3) 14Cy, (4) 4368

03



10.

03

A w THE FT Ay CER G
(T+w+w2+ .+ wl00) srer 2

(1) —w2 2) -w

(3) -1 4 0

%(ﬁ-i)wmﬁmﬁaw%:

(1) 3ein6 (2) 2e-in2

(3) 3e-ins (4) 3eins3

e o 61 T BR 3 a2 5 2, @) 5
e % :

(1) =9 T 3T = 333

(2) °9 1 9q8 1 ATH = 6a2

(3) G faof = 35

(4) ¥ % TF o TaE HT A% 22 |

ﬁam%mﬁﬁw“mﬁ‘h'%w

Wﬁ%er,rz,rg,%,@rl,rz@

FHHI Byt Y ot § | Rt Ryspot

%%,ﬂ'ﬂﬂ'ﬂwg:

(1) |8 92 o 1 R 99 ) Ao
% ST % 9T Y w27 BN |

(2) |94 9 9T FT T I & Ao
* ST % 0T SO RN |

(3) W& 9 I HT I 9 & Jo
% I % AT A Bier B |

(4) T T3 I 5 ToHYS T SAH I
QA I F THIB & 7 F TR
B '

e u = g(t) W ¢ = f(x), 3 g & £
UHehl T ATEBTEH Foi B) ) Ty ooy
7 '

(1) (tlog-N)(u) =x

(2) (gof)-1=g-lof-I

(3) (gofH)(x) =x

4) (gof)ylu=u

10.

If wis a complex cube root of unity,
then(1 +w+ w2+ .. + w100) equals ;
(1) —w2 (2) -w

(3) -1 “4) 0

The exponential form of % (3 ~1)is:

(1) 3eiw6
(3) 3e-im6

(2) 2e-in2
(4) 3eim3

If the edge of a cube is \5 a units, then
the true statement is :

(1) volume of cube = 3a3

(2) surface area of cube = 632

(3) diagonal of cube = 3a

(4) area of one of square face = a2

Three cylinders of equal heights ‘h’
have their circular bases with diameters
I}, Ty, ryandry, r, are the sides of a right

angled triangle with I; as hypotenuse.

The true statement is :

(1) Volume of the greatest cylinder is
more than the sum of volumes of

-remaining two cylinders.

(2) Volume of the greatest cylinder is
equal to the sum of volumes of
remaining two cylinders,

(3) Volume of the greatest cylinder is
less than the sum of the volumes of
the remaining two cylinders.

(4) Curved surface area of the greatest
cylinder is equal to the sum of
curved surface areas of the'
remaining two cylinders.

Letu =g(t) and t = f(x), and g and f both

are one-one and onto functions, then
true statement is : .

(1) (flog-N)(u) =x

(2) (gof)-!=g-lof-1

(3) (gof)(x)=x

(4) (gof)ylu=u



11.

12.

13.

14.

15.

ﬁﬂ@ﬁiﬁsﬂﬁﬁmw%, T
KR "‘hlqa?hzé,a‘raﬁamaﬁam
I B :

2 h
1y @
hy 2
h12 tan2a. h13
® 1= W =3
b TS B A AT U Farg B

=1 3T T I 3 uftd: TR STt e
%awgmmm%,wma'-ﬁ@m

3 .. freen 9ot o Tt Wi et
0.6ﬁ.tﬁ.amﬁwﬁ%'oﬁarhémaﬁ
3 | g DR Ml H H@ 8 :

(1) 10007 2 100
e
(3) 1000 4) 500

fopeft e7g % WrEe Tt hi Ae<l: T T
et 6 reand 3 2. T s AL B 19
ferereTeRt 3_32@.111. S 1 O IR

e SR S ], A 39 oM & U
HIAE R -
ORRAE: ) %ﬂ.ﬁr.
3) %ﬁﬁﬂ. 4) 1431,

w o™ Sod W I
1540 @fh3 R | 38 o 1 Taer@mRt 7
By 1t Forser %1 T AR ST S @ | R

?ﬁﬂﬁﬂ%%
(1) 10&H (2) 100 &
@) 10000 &t

(3) 1000 &t

11.

12.

13.

14.

15.

Two cones of same vertical angles have -
their heights as hy, h,; then ratio of their

volumes is :

2 h
h 1
1n - 2 —
hy? hj
h,? tanZa hy’
@} L= @ —3
- b hy

An equilateral triangle of side b is
revolved about a line through one of its
vertices and parallel to opposite side.
The volume of the solid so formed is :

b? 2y L
1N = ()2

1
4) —mb3
4) 1

_nb3

1
3) —mb3
3) =

A solid sphere of radius 3 cm is melted
and recast into smaller spherical balls
each of diameter 0.6 cm. The number of
these smaller balls will be

(1) 10007 @) 190
T
3) 1000 4) 500

The radii of internal and external
surfaces of metallic spherical shell are
3 cm and 5 cm respectively. It is melted
and recast into a solid right circular

cylinder of height 2’372 cm; the diameter

of base of cylinder is :

(1) 7cm Q) %cm
3) %cm 4) 14cm

Volume of a solid cylinder is
1540 (cm)3. A wire of radius 7 mm is
made by melting this cylinder. Length
of wire is

(1) 10cm
(3) 1000 cm

(2) 100 cm
(4) 10000 cm

03 .



16.

17.

18.

19.

20.

21.

03

{(cos 45° (cos 60°) - (sin 45°
(sin 60°)} SR :

~3-1) V3-1
YT ® g

o3 41 —1=a/3
3
©) 242 ® 242
'qﬁwmaﬁmwmqﬁ@@ﬁ
1 BT IHH TEE D 3 R 0
(1) 60° (2) 30°
(3) 45° 4) 105°

aﬁﬂrﬁwﬁsmh‘_zlqa‘rtane:

] ;
ﬁ-ﬁa@mﬁﬁmeaﬂmm

TR
1) nn+36£ ) zrm~36£
in Tn
3) 2nm+ L& 4) nm- =
3) E 4) -

HHHIT tan 50 = cot 20 FTEAR :
(1 B—l[nmf (2j 9—-1- mr—E]
;09 )] 1 2

3 9_1[M+£}4 e_l(nn_zf]
3 =3 2() =3 >

(sin_I -3: —cos} EJ TSR
5 13 '

() sl g_g @) 1

. iz 4B
3) 0 (4) sin- =
T ufed 1 =g 28 A1, 2, ) gHae w
Teh QU1 IRGHHAT T W 913 61 S et
(= 2
(1) 88%.#. () 176 9.4,
(3) 4491, 4) (28/m) .1,

16.

17.

18.

19.

20.

21.

{(cos 45°) (cos 60°) — (sin 45°) (sin 60°)}

equals
~{/3 1) o3 =i
1] wiiz =l Py A
(L) 22 @ 212
V3 +1 a3
3 4
R o Y

What is the angle of elevation of sun
when the length of the shadow of a pole

is /3 times the height of the pole ?

(1) 60° (2) 30°
. (3) 45° (4) 105°
The most general value of © which
satisfies both of the equations
: -1 L -
Sinb= — tan Q= — is
2 V3

| n Tn
I) nm+ 2= 2) anm- =
(D - (2) 2

T 7n

3) 2nm+ — 4) nm- —
3) = 4) <

Solution of equation tan 560 = cot 26 is

1 e—i[nn-}-fj 2) B_l[m_ﬁ)
M 7 2 )¢ T 2

3 e-l(mr-l-f)4 e-—l(nn—z]
€) =3 5@ =3 >

sin™! = —cos ! 11 1
5 13 cquals

(1) sin-lgg Q) 1

. 16
30 4 =~k =Y
3) (4) sin =

The diameter of a wheel is 28 cm;

through what distance does its centre

move during one revolution of the

wheel along the ground ?

(1) 88 cm (2) 176 cm

(3) 44cm (4) (28/m) cm
o



22.

23.

25.

26.

ﬂﬁf(x):\x—l]+lx-—2\,'cﬁ'ﬂ?q$?ﬂ%:

(1) e x = | TG |

2) FH x = 2 T FEAA 2 |

3) Fex = 1 T x= 2RI |

@) o ¥ freft oft arafis 7F % T
e ieTiE T8 8 |

iy A EA AR ?

im |a* -1
(1) xgmo( " ]=10gca

: a%—1
o )

X

' a¥ -1
3 xl—u;ﬂO{ x 1=0

2 1
(D (2
. \Jl—xz . \Jl-—x2
@) W1-22 @ feait?
a2 f() =|x=2 |, AE(2) TERE:
) 1 @) -1 | _
3) 0 (4) AT |
e BT % Tt #, P A A e
FATAR?
(1) Bt
sin A
 abc
@ R="5
@) n=—
s+a
(4) i T S E |

22.

23.

24.

25.

26.

If f(x) = | x— 1| +| x— 2|, then the true

statement is : ;

(1) function is discontinuous at x = 1

(2). function is discontinuous at x = 2

(3) continuous atx = landatx=2

(4) the function is not defined for any
real value of x.

Which of the following is true ?
im | a* -1
M x5 [—-a } = log.a

tim (2" =1

@ x50 x—
€) xE-)mO[a -

X
. ex
@) x 1_1)m0 [

-1
—> 0
x ]

=log. a

=0

X

|
1)

_Ify=tan-l[ 2 1+ser‘( s 1
' '\Il—xz 1—x2

,lx\<l,then§# equals :
dx

(1)

2

1
le—x2

(€Y) 1—-Jc2

2
\ll—x2
@) 2v1-x2

If f(x) = | x — 2 |, then f'(2) equals :
(1 1 2) -1
3 0 (4) Does not exist.

Which of the following is correct ?
(Letters have their usual meaning in
plane trigonometry 2
1) R=—
) sin A
bc

2 Rl
2) s

S

(3) r} -
s+ a
(4) All the three are wrong.
03



27.

28.

29.

30.

31.

32.

03

9% 12y =x3—3x2,%%€{ﬁ?g‘ﬂ
Tf -, x-318 F TR

(1) [2—‘-3—1) @ O
3) [z, %—) @) wE
B f(x) = 263 + 322 — 12x - 4 T5w
FA H Uehies gaEm 2 92
(1) J—eo,=2]
(2) 1-2,1[
(3) [1,e]
(4) e e aduE R |
Isinx—bcosx de%"
+/sin 2x '

(1) cosec-! (sin x + cos x) + C
(2) cosec! (sin x - cos x) + C
(3) sin~! (sinx-cosx)+C

(4) sin~! (+/sinx—cosx ) + C

J.E.x_(_'y_c__l.),_ de%:

(x+1)3
X e‘r 3
(1) & +C (2) +C
(x+1)2
_aX éx
3 C @ it
& G+12 T @ (x—1)2
TH y = 4x(x - 1) (x - 2) T x=787 gRI
g &7 W SawE B
() = (2) 16
3) 2 (4) 8

. 1
zlﬁxz+yz=t—}— Eﬁx“+y4=t2+"2",
t t

H}ELW%
dx
-1 : 1
1) — @) ~
( x3y x3y
@) - 4) -3
xzy Xy

27.

28.

29.

30.

31,

32,

At which point of curve 12y = x3 — 322,
the tangent is parallel to x-axis ?

o (2 3 @ey

1
3) [2, EJ

The interval, in which the function
fx) = 203 + 3x2 - 12x - 4 is
monotonically decreasing, s :

(1) J=eo, 21

(2) 1-2,1[

(3) [1,eof

(4) The function is always increasing,

(4) No where

jsin X+cosx

T dxequals:
Vsin2x -

(1) cosec! (sinx + cos x) + C
(2) cosec! (sinx—cos x) + C
(3) sin~! (sinx —cos x) + C

(4) sin-! (+/sinx—cosx ) + C

IM dx equals
(x+1)3

+C (2)

(T
; (x+1)2
X X

. oy et C
+
+1)2 (x—1)?

3)

‘The area “enclosed by the curve

y =4x(x - 1) (x — 2) and x-axis is :

(1) zero (2) 16
(3) 2 4 8
1 1
Ifx2+y2=t- = andx4+y4=t2+—2‘,
t t
then 9Y_ equals :
dx
-1 1
(L) = 2 —
x3y x3y
® @ —
xzy ' Xy



33.

34.

35.

36.

37.

38.

Wy=x2+2'@;i'@3ﬁx=0,
x=1¢éx+y=0@(‘=rm@fﬂﬂém

(ot wepTeR) R -
17 11
0 = @ =
14 16
® = @

Wﬁﬁy2=5x+6@x2=y§lﬂqm

2 7 St (g H) B
57 2 21

L = @ =
209 : 2909

@ = w5

Wy2=x@1ﬂx2+y2=2ﬁ
SvafE 8 %1 St (T SRR H) § ¢

) %(31:—2) ) _;_(12-310

3) .16_ or+3) @ 15 (Br+2)

Ffe fog (a, 0), (O, by T (1, 1) TG
£ (a-! + b-1) T HH B :
(L) =1 -
3) 1 @ 2

fog 3, 8) %1 Y@l x + 3y = 7 % HU
BIRIEL R

() L4
3 1L-4

L@ 1,-4
@ (1,4

WH@‘&WﬁEﬁx:sin-‘ Y,
x:cos*‘y@y-ﬁ%ﬁﬁi%ﬂwm
?:

(D) (V2 +1)
3) 242

@ (V7 -1
@ QT -1

a3.

34.

35.

36.

37.

38.

The area bounded by the parabola

-y=x2+2andthelinesx=0,x=1,

x +y =0 (in square units) 1s :

17 11
% @3
14 16
1% i Gl
€) @) <

The area bounded by the parabolas

y2=5x+6andx*=Y (in square units)

18 %

57 27
2. o) P
(1 = (2) S
209 299
i A
©) 15 @ 15

The area common to the parabola
y2 = x and the circle x2 4+ yt =12
(in square units) is

1) -{13—(311:——2) ) %(12—31:)

1 1 .
3) %—(2n+3). 4) g_(Ehrl:+2)

If points (a, 0), (0, b) and (1, 1) are
collinear, then (a-! + b~1) will be equal
to : '
(1) -1
3) 1

2) -2
@ 2

The image of the point (3, 8) with
respect to the line x + 3y =7 will be :
(1 L4 @ 1,-9

$ -9 4 1,4

The area enclosed by the curves
x =sin~! y and x = cos~! y and y-axis
and lying in the first quadrant is:

(1) (V2 +D 2) (V2 -1
3) 22 @ 22 -1

03



39.

40.

41.

42.

43.

03

1 5 @ B @1 56 Weerd y2 = dax
FHHIOT T T 2
(1) x2+y2=2a2
(3) y=ax

(2) x2=4ay
(4) ¥ e—x/2a

ﬂﬁ‘q"lﬁiﬁ—+— = 1 % gyl =
%f&ipqaq%‘laqapqasmﬁ@aﬁ

Eﬁlﬁﬁqﬂ ;-2—-}-%2— =?L_&;l?ﬁ7LW%:

1y 2

13
2
4) 4

1
4
)
HATT -G 9x2 ~ 16y2 = 144 % o gey
FUTR :

(1). 8eht 10T (0, £ 5) F |

(2) Nd-Tg FAM A TEE 42 |

(3) I e Y TS % 21

(4) TR Iz 2 8
x2 y2
?;"rﬁaﬁa—zurbmz = 1 RER wEq

mﬁ%@aﬁ%uﬁ%aﬁgsﬁmﬁ@a%
(D xz_az_yz b2

(2) X2+a2=y2+h2

(3) x¥2+y2=a2+p2

x2+y2
i a’ +b?
Ty =4-2%fag (1, B) W
wrRi-tE e e &R 9w § | @
TR wE-t@n, oAfyems qen
x-3 g i Bye w1 dawa (v

=2

4 /3
1 — rretiasit,
(1) 75 @ =
(3) 243 @) 3

39.

40.

41.

42.

43.

Which of the following curve will cut
the parabola y2 = 4ax at right angle ?

(1) x*+y?=a2 (2) x2=4day
(3) y=ax (4) y=e>2
If P and Q be the ends of the conjugate
x2 y2
diameters of the ellipse — St = 1,
a“~ b
and the locus of the nuddle points of PQ
x2 }’2
be ~rhc = = A, then A is :
a“ b
1 1
1) — 2 =
(1) 3 (2) 5
(3) 2 4) 4

For the hyperbola 9x2 — 16y2 = 144, the
true statement is :

(1) its foci are (0, £ 5).

(2) length of semi-minor axis is 4.

(3) length of latus-rectum is :91-

(4) its eccentricity is %

Locus of the point of intersection of
mutually perpendicular tangents to the
x2 y2
ellipse ks
a~ b
(1) x2 ~ a2 =y2 b2
(2) X2+a2=y2+b?
(3) X2+y2=a2+b2

2
)

=1is:

2ospey?
a’ +b>
At a point (1, 3 ) on the curve
y?=4 -2, tangent and normal are drawn.

The area of the triangle formed by tangent,
normal and x-axis in square units is :

=2

4 %3
M 7 @ -
3) 243 @ V3



45.

46.

47.

48.

S 3x - Sy + 4z = 5 % "E forg

(1. 2, 1) 3 w35 P €Y
' 73 =30 39
(1) (73,-30,39) () (35_2?3)

(3) (_10 _25 1) (4) (Oa 0'! 0)

@%@@@%ﬁ%&ﬁ%&ﬁmu@ﬁﬁ
et 2, 3, 6 %, 9 3@ WS 6
F'lﬁﬂ"q;%:

) 7
3) 7

2) 1
4) 11

x—1=y—2___z—*3

2 3 4 L
PG5, 9, 3)ﬁmPNmm%,fﬁ
wraTe (N) 3 Fréanes 3 :
1 (3,57 () (2,3,4)
3 12,3 4) (-5,-9,-3)

@1 (NL)

ws Toael et fer g @, b, 0 ®
W%,a‘tqyfﬁ@ﬁmmmﬁnﬁ
T ¥ TG T g & :
(1) x2+yz—ax—by-cz=0
(2) xyz—ax-by—-cz=0
3 Saleles

a b ¢

4) 2+y2+z2-ax—by-cz=0

f% 2 e Tt a6 e T Ly, m,
nlqa‘zz,mz,nza‘iﬁsqésnwﬁvﬁaﬁ
gufefa & dret W@
fepepTead, foers ST B 2

ll Iy n

+— +—,+—

b’ mp  1ny

(Z2) 1112 , £ Amymy , + 4/0yNy

(3) il x 12, m; + ms, ny + Ny

) t\F,i i, [
) m; nj

M
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44,

45.

46.

47.

48.

@ xbe—td

The image (or reflection) of the point
(1,2, -1) in the plane 3x-Sy+4z=5is:
73 =30 39
1) (73,-30,39 2) i as
M ( +39) ()[25 55 25)
(3) (_19 _’2-, 1) (4) (01 09 0)

The projection of the line segment on
the axes of co-ordinates are 2, 3, 6, the
length of the line segment is:

(1) 7 @ 1
3y 7 4 11

A perpendicular PN is drawn from
P(5, 9, 3) upon a line NL given by

x-1 = iﬁ o 5;}_ , the co-ordinates
2 3 4

of foot N of perpendicular PN are :
(1 3,57 (2) 2,3,4)
3) (1,2,3) 4) (-5.-9,-3)

A plane passes through a fixed point
(a. b, ¢). The locus of the foot of the
perpendicular from origin is :

(1) x2+yz—-ax—by-cz=0

(2) xyz-—ax-—by-—cz =0

3) ;t_.l_l.{.g. =3
a b ¢

4 2+y2+z2-ax—by-cz=0

If I,, my, ny and [y, My, Ny are the
direction cosines of two concurrent
lines, then the direction cosines of the
lines bisecting the angles between them
are proportional to :

11 my 1’1]

8 B y —_

12 my 115

) + +/hlp, £ Jmymy , & 400y

(3) Iyt myEmy nitn,
4) i\[i,i jﬂ,i /_“L
b my nj

03



9. Wr=(i-j+b+ret-}+30
AT Q1+ - =4S mmFOL ©

49.

The  angle  between  the  line
T=(1-7+0 + 2215+ 38 and plane
T+ -B) =4is

(1) 0 (2) w6 i
3) /3 @) 72 (1) 0 - @ /6
(3) w3 4) n/2
50. = feraon 50. In the following distribution, the value
N A | 10-20|20-30 |30-40 |40-50 [50-6060-70 | 70-80 of median is 46, then the values of x and
st 12 130 [ x [65 ] y | 25| 18 y are :
 TfeT . 78 . | [Class intervall 10-20]20-30]30-40[40-50]50-6060-70]70-80
q RIHMAG %’ T‘hx@ ya; tnq% " | |Frequency 12 130 | x [ 65| y [ 25 ] 18
(1) 40,39 (2) 42,37 (1) 40,39 (2) 42,37
(3) 34,45 (4) 38,41 (3) 34,45 (4) 38,41
51. o= Soft =57 wrfeyresT @ Ty fraem T 51. The mean deviation from the median of
R the following series is :
: ' Seial |, 0o lslals]|el7]e]s
w.4. 12|34 |s5]|6|7]8]09 number
10093 Marks = | 68 |49 |32 |21 | 54 | 38 | 59 | 66 | 41
. 68 |49 [ 32 |21 [54 |38 59|66 |4l out of 100
iialial (1) 12.1 (2) 132
8; i%;g % iig (3) 12.78 4) 14.5
A it 3y 36 52. Daily wages of 10 workers in a
S2. gq; % 10 il a company are given below :
by _';“%‘ Wages in ¥ : 15, 20, 22, 19, 16, 10, 17,
AT : 15,20, 22, 19, 16, 10, 17. 18, 13, 20
a’[*@qﬁ’f % 18%%3’ 20 The variance in rupees is :
1 117 ' 2 118 (1) 11.7 (2) 11.8
3) 122 4) 128 @) 122 (4) 12.8
53, UH A AR 60% A ¥ T9 S 2[33 A p:a;son speakthruth ;111 6??803‘3283?)1;1
. & o ; another person B speaks false in 30%
NG B 30% W ﬁa\a’ cases. In what percentage of cases they.
%ﬁﬁwmmﬂ’fﬁ%iﬁwﬁ are likely to contradict each other in
A | 3 ST e e 2 2 * stating the same fact ?
(1) 56% (2) 46% (1) 56% . (2) 46%
3) 36% (4) 66% (3) 36% (4) 66%

54, @HAST Ix + my = 0, HHGA 2 = 0 & 1Y
Ffa=seT @1 & TRd: oI T gHmE
ST 8, @ THAS 1 39 A fufy

TR Ix + my 2912 +m? - A= 0%,

H‘IKW%:

(1) coso
(3) tan o
03

(2) sino
(4) coto

11

54.

The plane Ix + my = 0 is rotated about
its line of intersection with the plane
z = 0 through an angle o.. The equation
of plane in its new position is

Ix + my + zvI+m?- A = 0, then A

equals
(1) cosa (2) sino
(3) tan (4) cota




55.

56.

57,

58.

59.

Wﬂmﬁmﬁfﬁﬁ%{ﬂﬁaﬁréﬁmﬁ
R % 300 Rl # v g9 1 e
0,052 | WA 5 weal # arfe ¥ Al
Q?:Bae—q'%mooﬁq%mﬁﬂﬁ@ﬁa?r
yTRreRar B

1) (19/20)° ) % (19/20)%

o 1-36 @ 1-G)

T B: BeTH! 16l TTE] o SIS B ©: TN
JSTEAT AT 2 W& el A 1 3T WAE

HFeTT 2, A0 Y HH 5 ThAATE g i
TReRdT B
(1) 31/6%
(3) 1-(5/6%)

(2) 5/6°
4) 1-31/65

W§=?+2j'\+ 3ﬁ,E=—?+2'j\+ﬁ,
=3} + ], @ a + Ab, ¢ F=EA B,
Ife L SR R :

(13 4
3) 5

2 3
@ 7

afesti (o} + ) W (qF - p) B e T

FHE:

(1) ¥75 3ifew 9 Wiew IHwel
gt SUsAE |

) 3 FEHAEE &

(3) A TR T2 |

(4) ATE=RE |

YRy Y Ueh wwwR ) A ferenfi gra
B mﬁmﬁwi%%% =
T % el 7 B Sl Wil R ?

(1) 3/4 @) 12/13
@) 1-(12/13) (@) 1/4

12

58,

56.

.

58.

59.

The probability that a bulb produced by
a factory will fuse after 300 days of use
is 0.05. The probability that out of 5
such bulbs not more than one will fuse
after 300 days of use is : .

(1) (19/20)° 2) %(19}20)4

o 156 @ 1-(63)

A pair of 6 face dice is thrown 6 times.
If getting a total of 7 is considered a
success, the probability of getting at
least 5 successes 18 :
(1) 31/6°

(3) 1-(5/6%

(2) 5/6°
4) 1-(31/6%)

A AN = A A
Leta=1+2)+ 3k,b=-1+2]+ﬁ,
c=31 +j\, then @ + Ab will be perpendicular
to € if A equals :

(H 1
3) 5

2 3
@ 7

ALA AA
For vectors (pi +qJ) and (qi —pj) the

true statement 1S :
(1) magnitudes of their scalar and
vector product are equal.

(2)
(3)
4)

they are non-coplanar.
they are mutually perpendicular.
they are parallel.

A problem in physics is given to three
students whose chances of solving it are
111
"3
problem will not be solved ?

(1) 3/4 (2) 12/13
(3) 1-(12/13) 4) 1/4

What is the probability that

03



60.

61.

62.

63.

64.

03

A+ + 3w 3t 204 b v

'[(Qx?)x?+(5}xj\)xj\+(§xﬁ)xﬂ]

, (B —2<h 2 -a+b
3) §(5’+B’) @ a-b

afe g A (111 + 37 + 70), B 57 - 2B wa
C(?-zj‘-sﬁ)qm%@?aﬁ,?ﬁﬁgs,m
=1 o aruma # fasrRg e 2 2

(1) 3:1 (2] %2

(3) 2:3 4) 1:3

afe gt ge1s wiewl 1 4w T wlew
%,ﬁmmmwvﬁm‘aﬁm:

(1 Q) 2
3 V3 @ 0

T GHTR SGH ) GeT yorrai o) afesi

Sref¥fer forar < 2, < sq T g
Tl 1Al H SaheT &

(1) 65 2) 5\6

(3) 148 4) 20

el srer wlew 2 % R

T B,
(1) 23
(3) 37

" (2) -7
4) 27

foeg P X@mams AB 1 3:2 % aru #
fervrfor e 8 aem A wd P36 Rufor wfewr
I (‘5+B’)qa'r(§-%*b’]§,a‘rﬁ§3

13

60.

61.

62.

63.

If the points A (111 + 3} + 7k, B (5% - 28
and C (? — 2? - 81‘2) are collinear, then the
ratio in which B divides AC is :

() 3:1 (2) 3:2

3) 23 4) 1:3

If the sum of two unit vectors is a unit
vector, then the magnitude of their

@ V2

(CONY

difference will be :
(1) 1

3 3

The adjacent sides of a parallelogram are
represented by the vectors (? + 23\ + 3?)

ancf (-8? + 23'\ + 1?); then the area of the
parallelogram in square units is :

(1) 65 @ 5\6
(3) /148 4) 20

For any non-zero vector z_f,
[(Ei’k?)x?+(§-x:i\)x’j\+(5’xﬁ)xﬁ]
equals
(1) 23
3) 37

) -7
@) 22

The point P divides the line segment
AB in the ratio 3:2 and position vectors

- — ]_-—-)
of A and P are (?1>+b) and[a~§b)

respectively. The position vector of B

will be ;
CLY =8 =B 0y ~Z4T
3) %(E’+B’) @ a-b



65.

66.

67.

68.

=% ¥ n gl B GFI T OCHD
aﬁmm@am%ﬁﬁaﬁmmm%:

(1) ezmm (2) e:t'u‘n

(3) ' edn'u’n (4) eird2n

AT FE (G, *) BT (H, *) Th FHHA

IavE B, @ @ (G/H, *) T T8

WT%,@[WW%:

(1) (G/H,*) TH e @ e |

(2) @ * <, G/H § arE=d R |

(3) * % fu G/H &1 ToEh FII
H=e*H? I

4) al* H, a * H %1 iies T8 8 |

AT G T S HATeHeh TR Sl
% Tg=A & W *, G H TH e
dfran & < For weer & fenfa 2 ¢
a*b:%(?b), '

A foret 1 A B | AT HUAR ?

(D (G, *) TH TG 2 |

Q) *"EEEl

(3) afwan * ¥ F deems EEE 21 |
4) (G, *) Tk el g T ¢ |

agaap:{m&bgqﬁmmﬁﬁm*ﬂ

1w oot g AR €, @ B AR S

aupmﬁmymwmﬁmﬁn%?
| b .

*

o |0 ||

O |g e e
o |l oo
oo |o
o|lm ot |0

b
(1) GrE=a
(2) e ToEHD IHTIE 2 |
(3) PUHTHITE S |
(4) st frem

14

65.

66.

67.

68.

‘Let (G) be a cyclic group of n roots of

unity under multiplication, then its
generator 18 :

(1) eZ'.!:ifn
(3) e4ni.-‘n

(2) eﬂi)‘n
(4) eim’Zn

Let (H, *) be a normal subgroup of the
group (G, *), and the system (G/H, *)
forms a group. The false statement is :

(1) (GrH, *) is quotient group.

(2) Operation * is associative in G/H.

(3) G/H has an identity element

H=e* Hfor *.
(4) a-! * H s not the inverse of a * H.

Let G be the set of non-zero positive
rational numbers and * be the binary

operation on G  defined by

1
a*b =5 (ab), then the false statement is :

(1) (G, *)is a group.

(2) *is associative. _

(3) 2 is the identity element for
operation *.

(4) (G, *) is not an abelian group.
Operation * is defined on set
P = {e, a, b, ¢} as per given table, then

which property does not hold good ?

% g a b c
e e a b C
a a e C b
b b c e a
c c b a e

(1) Associative law.
(2) e is an identity.
(3) Pis acyclic group.
(4) Commutative law.

03



69. Wf(x,y):( +—+ )%%qw

70.

71.

72.

73.

03

%"EFI%

(1) 3ferepam o 3a2 2 |

(2) =EaH T 3a2 2 |

(3) K 3far sreran fafer g i &

(4) T TM (-a, —a) W2 |

Th y? (2a — x) = x3 Y I=oas &

(1) y=0 (2) x=0
(3) x=2a 4) y=x
2z yz
fffxyzdzdy dxHTAF R :
010
(1) 1572 2) 92
3 72 __ 4) 8
FW%
(1)

5
@) %5[
3) -122

(4) A T T2 R S g |

HHT (G, *) T TYE ¥, T8 AHT BT L -
(1) 3 a, b e G, 78 T wehew

a*x=b@y*a=b%3ﬁ$3§’i '

ERET RS
(2) YO 39 a € G F U o w
T 2 M UBR B a-l *
=a*al=¢
a,b,ce G,dd
a*b=a*c=>b=c
(b*a)‘l =gl *p-!

3

4)

15

69.

70.

1

72.

| 73.

The true statement -for
3 .3
a® ad),
f(x,y):(xy+ = F yJIS.
(1) the maximum value is 3a2.
(2) the minimum value is 3a2.

(3) no maxima or minima exists.
(4) the extreme value exists at (—a, —a).

function

Asymptote of curve y2 (2a — x) = 23 is

(1) y=0 ) =0
3) x=2a 4) y=x
2 z yz
The value offjfxyz dz dy dx is
010
(1) 15/2 2) 92
3) 72 4) 8
2 equals :
= :
-8\
)
85
) _135[
3) =12

(4) Cannot be evaluated.

Let (G, *) be a group, then the false

Statement is :

(1) If a, b € G, then the linear
equationsa *x=bandy *a=b
may have many solutions.

(2)

For every a € G, there is only one

element a! such that
al*g=a*gl=,

a,b,c e G, then
a*b=a*c=b=c

(b*a)l=al*p!

3)

4



74.

78.

76.

1.

78.

79.

Tg=a S={x:0<x<l,x€ Q) &g

TR :

(1) ag=d S H I« A g o
afEg § |

() S ¥ I T AT T8l @ |

(3) sHFEsE I |

(4) e TS e S % eI TR 8 |

fre Sroft & U T HUE R

14 24 34
13+23+33+...,

(1) e FfEd e |
) |

(3) IR |

(4) T HE T

3t [i ;T;‘}%a%qmw%:
n=1

(1) Ak <3

2) AdE IR x>3

(3) FEd ARG > 1

(4) 3rqErd Aig x>0

aﬁp*%mﬁwmpmqﬁsﬁwé,a‘r
ey ez o £ 3 I e U 8 ¢
(1) LP* H<L (P 1)

) LE*H<UEP,DH

(3) LE*H=h ED

@ UEHHzU @ D

Rl +xr 2t (1 =0 W
R v i sl B ], T8 2

(1) ¥ 0<x<1 (2) HFaA-1<x<0
3) ¥ -1 <x<1(@) HaA-l<x<|

x=c%%€ﬂﬂ%ﬁﬂ%yz logexEﬁ
s fargat (1, 0) W (e, 1) 1 e

il YT & g ant ?
(1) c=e+l =~ (2) c=e-1
3) c=e

4) c=1

16

74.

75.

76.

1.

78.

79;

ForthesetS={x:0<x<l,x€ 0}
the true statement i :

(1) the set S has infinite elements
hence unbounded.

the supremum of S does not exist.

the infimum of S is zero.

the infimum and supremum do not.
belong to S.

(2)
3)
@

The following series

14 24 34
13+23+33-1—...1s

(1) oscillatory convergent
(2) convergent

(3) divergent

(4) None of these

The true statement for the series

oo xn—l .
[Z_“ i 3“] is
n=1

(1) Convergentifx<3

(2) Convergent if x > 3

(3) Divergentifx>1

(4) Divergentifx>0

If P* is a refinement of a portion P, then
for a bounded function f, the true
statement is :

(1y- LP%, H <L P 1)

) LP*H)<U(P,1)

(3) L+ H=L(EP.D

@ UE*H>UP.D

The series 1 +x + X% + x> + ... converges
to (1 —x)~! in the interval :

() 0<x<1only (2) -1<x<0only
(3) -1 <x<1only(4) -1 <x<1only

Find the point x = c on the curve

-y = log, x, tangent at which is parallel

to the chord joining the points (1, 0) and
(e, 1).

(1) c=e+1
(3) c=e

(2) c=e-1
4 c=1
' 03



80.

81.

82.

03

A RN T R ?
(1) Vx(Vo)=0

2) V- (0H=06(VD+ " (Vo)
3) V-Exp=g- VxDH-f-(Vxg)

@) Vx(VxH=V T D+V.

SHT=(acost)} +(asint) ] +btka
fargait A (a, 0, 0) ¥ B (a, 0, 2mb) T

B
j(’fxd?)m'rm‘ém:
A

(1) ma(b] +ak)

2) 2ma(al +b] +abk)
3) 2ma(aj +bk)

@ 2na (] +ak)

a2 xy T 95 C g0 TG & R @

T o(x, y) T y(x, y) T & R 7 HAQ

w8 R R § dq JTifeh Teehers|

aﬁaﬁaﬁ%aﬁf(wﬂq)dy)w
__ -

?:

(D)

@

17

80.

81.

82.

The true statement is :
(1) Vx(V$)=0

2) V-0 =0VH+f (Vo)
3) V-Exp=g VxD-T(VxP
@) Vx(VxD)=V(V-D+V2f

B
The value of J (r x dr) from A (, 0, 0)
l _

1B (a, 0, 2mb) along T = (a cos 1) T +
@sint) ] +btkis
(1) ma (b +ak)
A A
(2) 2ma(al +bj +abk)
(3) 2ma(aj +bk)
@) 2ma(b] +ak)

Let R be a closed region in the xy plane
bounded by a simple closed curve C,
and if ¢(x, y) and y(x, y) are continuous
functions having continuous partial

derivatives in R, then J (y dx + ¢ dy)
C

equals :

"”[aﬁ oy

oW

(1)

2)

3)

4)

(-)E.



83.

84.

85.

86.

87.

ffﬁx(ﬁx?) dS, =1 | 81 |

S
(ST&T g8 S aret fyve o1 3mara V )

(1) va 2) %Va‘i

@) e

ITHA FHHT xdy — ydx =x2 + y?
AR

1) x+\:2+y?=cx?

@) y+\2+y=cy?

(3) y-xt+y?=cx
4) y+\x2+y?=cx?
= s adi T FTEA R

d
sec2yai+ 2xtany =x3:

(3) 2va

1
(1) tany=5(x2+ D+c e’

) tany::,lz"(xz— 1) +c e
(3) cot y_=%(x2+ 1) +ce®

4) tany:';“(xz—l)+ce"2

Jeehel GHiehtuT
x2££'c‘§-—x%§+y=2logxiﬁ'fgﬁ
y=(c, +cylogx) x+ 2g(x)%, al g(x)
TR B |
(1) 2+1ogx)
(3) (2-logx)

2) (1 +logx)
4) logx

§C [(cos x sin y — xy) dx + sin x cos y

dy, T CTh g2 +y2 =1 2, BT OA
@Tﬂ: '
(1) 0

(3) w2

2) 1
(R

18

83.

84.

85.

86.

87.

(3) 2Va

(©

3)

J. fﬁ X (ax 1) dS equals, where V is
S
the volume of body having surface S :
1
(1) va (2) 5Va

(4) Zero vector

The solution of differential equatiori
xdy — ydx =/x? + y2 dx is

(1) x+/x%+y?=cx?

@ y+\P+y’=cy?

(3) y-\x*+y?=cx

(4) y+\x?+y?=cx?

The solution of
differential equation

s’eczy%+ 2xtany=x3is:

the following

tany=%(x2+ 1)+ce‘ch

1
ta11y=‘:3"(3n:2u-1)+ce‘ch

2
1, 2
coty:'z'(x +1D)+ce™

“4)

The solution of

d?y
d—x)j—x%+y=2logxis

tany=%(x2—1)+ce"2

12

¥y =(c, +¢,log x) * x + 2g(x), then g(x)

is
(1) (2+1logx)
(3) (2-logx)

(2) (1 +logx)
(4) logx

The value of §C [(cos x sin y — xy) dx

+sin x - cos y dy], where C is the circle

¥ +yt=1,is
(1) 0 (2) 1
3) =2 4 =

03



88.

89.

90.

91.

92.

03

- %, 9EIC, ABWTH g

d
Eﬁpz‘a%,?ﬁ y =2px + y2p3%ﬁﬁ1{

(D y2=cx+%‘ 3@ y=cx2+%c3

3) xy%cx+-é'c3 4) y2=cxy+%c3
aﬁ_ﬁﬁomaaﬁﬁq%'q&mwx-og
w -C_)B'%W:OAQGOBﬁmaﬁﬁ
wﬁﬁ%@mqﬁmﬁrw (A+n)-OC
ﬁﬂﬁl’(%%
: cA _CB
(1) A'CA=p-CBQ@) 5 =7,

(3) A2-CA=p2-OB(4) -%+%= 1
et P Q g O W HRE § TH RITH
qfomh 2 | IR T s @i P, Q, R

B Tt s L, MG N

(1) P-OL+Q-OM=RON
P O RS

(2) GL*'OM ~ON

(3) (P+Q) (OL +OM)=R-ON

P R
@ o2 oMz~ ON?

mm#m,.ﬁﬂﬁﬁﬁmww%?

(1) V&Y T 1 GHIHT

x2

y:xtana—%'ugsinza |
2) g8 qg Ay S f e
22 2 '
UC;)S aé?ﬁ%! |
(3) sorm fag d g Hl W
e
Uzﬂam%l_

2 .
(4) TR R Sén O a2

JTdehel THIHLT
(4D2—4D+1)y;——e"2(DE%)$Tt{$
TR . _

iy 2
W Fe (@)

2 2
3) g~ @ “ge

19

88. Ifp= %, then for y = 2px + y*p°, we have

1
(1) y2=cx+§c3 2) y=cx2+%c3

(3) xy =cx+'1§c3 4) y2=cxy +'21§c3
The resultant of two forces acting at a
point O in directions OA and OB are
represented in magnitude b A+ OA and
1L - OB, is represented by (A + W) - OC,
where C is a point on AB such that :

CA_CB
(1) A'CA=p'CB@) 7 =",
(3) A2:CA=p2-0OB(4) (—:f‘- B

W
Two forces P and Q act at O and R is

their resultant. If a transversal intersects
their lines of action at L, M and N
respectively, then :
(1) P-OL+Q-OM=R-ON
P R

@) oL+ oM =N
(3) ®P+Q) (OL+OM)=R-ON

o P, QR
@ B2+ oM?2~ ON2
For a projectile, the true statement is :

(1) the equation of path is

x2

N O =~ 5
Y 2 ulsin? o

2u2 cos?.0L
(2) the latus rectum of path is —u"ig"s—"

2u sina
g

(3) time upto highest point is

; . u?sina
(4) maximum range 1s .

- One of the solution of

(4D? - 4D + l)y=ex’2(DE(%)is

%2 x2
1 ge @ 5"
2 2
(3) _xg eriZ (4) _£8— efo
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(1) Jrferemem F=ms u?/g Bt 2 |

(2) fereRam =T 1 wHT u/2g BT R |

(3) e form A wu 71 B e s a1
h $=7 fRY & wvsTq 377 A[2gh
BT |

(4) Tt F=r h T wEE @ T

[ut +5 ‘gtz)ﬁl?ﬂ% I

aﬁm:b,xgo,%w“rg@maﬁm
HIIE HI= U HAYE TG 2, a9
T fegwm e
R wm & forg B fopedi & @ w
3Sfue fames gfmr |
(1) I3 TH

3) %9 Y HY

2) FAYHITH
(4) g+t

T L.P.P. &I URfBrs fadtey afert

xBi!yij =0

0 —
0 £l
10/3

96.

(3) TEA (key) STa 8 &

(4) =i x, x,, rﬁ%ﬁnﬁﬁﬁwwm
JTE §1A 2 |

e 51 1 51 =g B, A sl i g

£

(1) & Tt
(3) A/ HiR

(2) A (Hrey?
4) (> i
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93.

9.

95,

A particle moves vertically under
gravity, then the true statement is :

(€Y
(2)

greatest height attained is u?/g.

time taken to the greatest height is
u/2g.

if body is simply dropped from
rest, then velocity attained after

falling a height h is \}2gh
time taken to attain a given height

: 1,
hIS(llt-kzgt)

J&)

(4)

If the convex set of all the feasible
solutions of Ax = b, x > 0, is a convex
polyhedron, then extreme -
points give an extremal solution, _
Fill the blank correctly among the fo]lowmg :
(1) any one of the
(2) atleast one of the
(3) atleast two of the
(4) all the

The initial simplex table for some

L.P.P. is as follows :
Ci [-1 3 2 0 0

=]

B| P [%1 Y2 Y3 Vg Y5 Y| wgiyy]>0

e
[=)1

ag g 7 13 -1 3 1 0
=2 4 0 0

—4 3

3

0
0 ds X5 12
0 10/3

X5 10

o - o o

1
8 0 0
5*-G[ 1 3 2 0 0

96.

Now, the false statement is :
(1) the departirg vector is as

(2) the entering vector is a,

(3) the key element is 8

(4) the vectors corresponding to variables
- Xy X5, X form an identity matrix.

If the unit of force is newton, then unit

of moment is ;

(1) newton metre

(2) newton (metre)?

(3) newton / metre

(4) (newton)? metre

03



97.

98.

99.

e Tk U GETA A H (m +n - 1)
T ST oA Bl q W T
g =12 .. m vG=12 .0
vt 70 v & T35 sl SifdeT (r, 5) b T
C, =u, +u,, @ e ferd e (i, j)
% g e A, e gr fean o @

(1) Ay=Cy+©-V)

|
@) Ay=Cy+5 @ +V)

1
(3) Aij =G> (u; + Vj)
) Aij = Cij - (u; + vj)

oy anferent g =g -t 3T e g
&1 M T BT y (3.62) T TH T1d HU

x | 3.60 3.65 3.70 3.7

y | 36.598 | 38.475 | 40.447 | 42.521

(1) 37.001 (2) 37.222
(3) 37.338 (4). 37.312

fore @il B0 x = 1.1m%aﬂnﬁﬁm

HIf :

1O 12 1.4 1.6 1.8

2.0

0 |0.128 | 0.544 | 1.296 | 2.432

4.0

100.

101.

03

(1) 0.63 (2) 0.61
(3) 0.59 (4) 0.57
TR 13 — Ox + 1 = 0 1 T Hel 2 T
4% e 2 | o1a gufgersH faftr s s
T §U T I~d SAH = 2
(1) 19T 2%
() 2Td 2.81 HELA
(3) -2.96Td 3 A
(4) 2.75Td 3% "eA
T gHE1 Z, = CX,
s.t. AX <b,

- @ X0,
6 g U B
(1) Zp=wbT,ATw>CT,w>0
Q) Zy= bTw, ATw<CT, w>0
(3) Zy<bTw, ATw>CT, w<0
(4) ZD=bTw, ATw>CT, w>0

21

97,

98.

99.

If we have a basic feasible solution
consisting of (m + n — 1) independent
positive allocations and a set of
arbitrary number u, (i = I, 2, ....,m)and
vi(G=1,2,...,m) satisfying C  =u_+ ug
for all occupied cells (r, s) then the
evaluation Aij corresponding to each
empty cell (i, j) is given by

1
(@) A;=Cj+75 u+vy

1
3) A;=Cy-5 U +V)

Using Newton - Gregory forward
interpolation formula, compute y (3.62)

from the following table :
x | 3.60 3.65 3.70 3.75

y | 36.598 | 38.475 | 40.447 | 42.521
(1) 37.001 (2) 37.222
(3) 37.338 4) 37312

d
By the following table, find aﬁ atx=1.1:

1.0

12 1.4 1.6 1.8 2.0

0 |0.128 | 0.544 | 1.296 | 2.432 | 4.0

100.

101.

(1) 0.63

(2) 0.61

3) 0.59 4) 0.57

By the bisection method one of the root
of x3=9x + 1 =0 lies between 2 and 4 ;
a better approximation is :

(1) between 1.9 and 2

(2) between 2 and 2.81

(3) between—2.96 and 3

(4) between 2.75 and 3

For the primal problem Zp =CX;
s.t. AX <b,
and X >0,

its dual is :

(1) Zy=wbl,ATw>Cl,w>0

() Zp=b"™w,ATw<CT,w>0

(3) Zp<bTw, ATw>CT,w<0

4) Zp=bTw,ATw>CT,w>0




102, TG y, = A-2"+B -3 A I AT
B & foreed oy T 9IS 37=R THISRT 2

103.

(1) 6Y,=5Ypu1 + Ynsp =0
) Syn* 6yn+1 Y2 = 0
(3) y,+ 5Y 041+ 6Yp4n =0
4) Yn= Yo T 6yn+2 =0

af¢ k=0,1,2,..., ATE B =8 &

- A # 1,79 IR WSy, , | = Ay, +B

104,

105.

T T A &
1) v =Byk+ Yo

B(l1 - AM
(1-A)

B(1 - A
(1-A)

B, (1-A¥)
(1- A9
frafeaa & & #F a1 ges 1l R

& “HITOT’ Ievd U YT T8 8 2
(1) T ST

(2) y.= Ak Yo
3) Y =AY +

4) Ay, = Ak Yot

(2) wfufa A et wd St

= |

@) @it @ =€ #H ven w

ST /1M |

- (4) Tersen <t gf e |

=2 W farfr g g f(x) = 0, F1
FTEITersh HeT T A bl STRITI Hi=rehe
AR (@R £ 20,7 "(x,)
#0) '

fx)
€Y Tnel =X T f'(x ).

fxy)
D o=

fx)

O X =5 =Gy

J )
@ Sout =5~
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102.

103.

104.

10S.

After eliminating the constants A and
B fromy = A -2"+ B - 3% the
corresponding difference equation is :
(1) 6yn_ 5yn-l»] *Vna = 0
() Syn_ 6yn+1 TV = 0
(3) Yn+5¥p4y +6Ypp =0
@ Ya= Yo T 6yn+2 =0
The general solution of difference
equation y, ., = Ay, + B,
where k =0, 1, 2, ..., A and B are
constants,and A #11is:
(1) v, =By, +y,

k
@ = Ao+ i)

B(1 - AY) .
(1-A)

B, (1 - A%
(1-AY
Out of the following which component

is not related to the “skill” objective of
Mathematics teaching ?

(1)
)

(3) y=Ay_ +

4) Ay =AFy,+

Computation

Drawing geometrical figures and
diagrams.

3)
4)
To find the real root of equation
f(x) = 0, by Newton — Raphson method,
the formula of successive

approximation is given by (given that
fix)=0andf"(x,) #0):

Reading and drawing tables and charts.

Verifying conclusions

1) x, =x +f(x“)
: n+l1 n f-'(xn)
Q) % =z S
n+l n f"(xn)

3) 5. =x _f (x,)
n+l n f'(‘xn)
£xy)

4) Kiit = %q f"(xn)

03
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107.

108.

109.

110.
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(3) eI B AR
(4) Treqor-arfepm feufeat
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(4) U R Hra@l

s UEl sreyga o fafa fome faeneff
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3 | =g F 3 Pafte w08 eS|
e e 8w 3% St wfd ®
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(1) v srerm fafa

2) favemm fafy

(3) mred fafy
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@) @i (4) difebe Ridd
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106.

107.

3)

108.

109.

110.

Which of the following point is not
essential to be kept in mind while
deciding instructional objectives ?

(1) Level of students

(2) Psychology of students

(3) Size of the class

(4) Teaching-learning situation

Which of the following is the correct
sequence of steps of Inductive Method ?

(D

Specific Example — Observation
— Testing — Generalization

(2)

Observation — Specific Example
— Testing — Generalization

Observation — Specific Example
— Generalization — Testing
“4)

Specific Example — Observation
— Generalization — Testing

Which of the following principle is not
related to the laboratory method ?

(1) From concrete to abstract

(2) From indefinite to definite

(3) From known to unknown

(4) Learning by doing

“A method of study in which students
do their work/study individually or in a
group under observation of teacher.
During this, they take regular guidance
from teacher and inform their progress
to teacher” is known as :

(1) Supervised study method

(2) Analytical method

(3) Inductive method

(4) Deductive method

Which of the following personality
characteristics could not be developed
through ‘study of Mathematics’ ?

(1) Problem solving

(2) Faith in craming

(3) Abstract thinking

(4) Logical thinking
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T eTd ?
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111.

112.

113.

114.

115. °

(1)

Which of the following is not the

characteristics of oral work in

Mathematics ?

(1) It develops accuracy, exactness -
and precision.

(2) It quickens wit and sharpens
intelligence.
(3) In case of error, menta}

cancellation is difficult.
(4) Itis a good mental exercise.
Out of the following, which course is
best suitable for Mathematics teacher to
understand the overall picture of the
theory and practice of teaching ?
(1) Distance Education System
(2) Educational System and Society
(3) Principles and Philosophy of

Teaching :
(4) Educational Administration
“A test which is used to measure the
degree of mastery of skills,
fundamental concepts, process and
general knowledge of a subject attained
by the student” is known as
(1) Prognostic test
(2) Achievement test
(3) Diagnostic test
(4) Survey test

Out of the following, which one is the
example of essay type question in
Mathematics ?

The sum of all angles of a triangle
is (1) 170° (i) 180°.

Intersecting circles are concentric
circles (true / false).

How many sides a triangle has ?
Define a straight line and from its
defination prove that any two sides
of triangle taken together are
greater thah the third.

‘A project is a whole-hearted
purposeful activity proceeding in a
social environment.” This definition of
project is given by :
(1) Stevenson

(3) Ballard

(2)

3)
(4)

(2) Kilpatrik
(4) John Dewey

03



116.

117.

118.

119.

03

frefefad § 9 w9 @1 ifbews w5
I T R 2

(D
Y TE R war ? |

TG were faenRiEt # forrw & afa
% ST T 1 W1 g Feha 2 |
R i ARSHeHS TR
IR ed B |

IE FHad ufawmemell ferenfiE =

)

3

C))

TR Rt Bl A 6 T WG

Az |

freafaftaa o @ w17 g i 5 wlasmemed

feremmeff <1 fergraan =61 7 gwitar @ 2

(1) 7 e = sfrerar & T |

(2) H I qlihs €9 & TG TET @71 H
HT |

(3) AT Tlish ! ~AIETE SEH hl gl

IO A R G I 9T |

(4) “FAMAMAR ..... 77 THR Y @A T
s gt |

T e e e ot

| gTereRal El

w fRwar i

() 7§93 % Fuiv 4 gog, oHYE,
FHEATIIIRT AT G BT THEN HET |

(2) IvEfad GREsl % q9 guyE
fafifa @ d adwm o I= w1
ITIAT HET |

(3) GETell I ISHT SR JRAIER ehi i

T |

(4) i aEEEl ) W adeh | |

ESEEICIN

e e “fg Ton % WA % fag ag
? g 3¢ o Y w2 e H
39 HEE i HE B

(1) Jwar ) Tovaadfar
(3) IEgHEm (4) T

7z el § niwie st ).

25

116. Out of the following, which one is not

117.

118.

119.

(@)

_ the purpose of Mathematics club ?

ey

It initiates and develops mathematical
expression among the students.

The mathematics club will be a
medium of developing student’s
interest in the subject.

(3) The students get opportunities of
recreational Mathematics.

4)

It provides opportunity of listening
experts to gifted children only.

Out of the following, which one is not
the characteristics of gifted students in
Mathematics ?

(D
2
©)

Grasp new ideas quickly.
Do work logically and accurately.

Shows poor communication skills,
when asked to justify their method

4)

Have a curiosity that ask “what
would happen if ..... 7 '

Out of the following, which of the
option below not shows the.
characteristics of pupils with creativity
in Mathematics ? _

(1) Combining understanding, experiences,

imagination and reasoning to
construct new knowledge. -
(2) Using existing mathematical

knowledge to create new solutions

to unfamiliar problems.

Posing questions and developing
. convincing arguments.

Solving mathematical problems in

routine manner.

(3

If a test measures those traits for which
it putports to measure; then the test
possess which of the following
quality ?

(1) Validity
(3) Objectivity

(2) Reliability
(4) Discrimination
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120.

121.

122.

123.

124.

Who was the propounder of “Mathetics
Programmed Instruction” ?

(1) Robert Mager '

(2) T.F. Gilbert

(3) Lawrence Stalurow

(4) Norman A. Crowder

Who was the propounder of “cone of
experiences” based on Audio-visual
aids for multi sensory instruction ?

(1) Edger Dale (2) Robert Mager

(3) Robert Miller (4) Gronland

The approach of lesson plan which is
prepared to develop various skills of
Mathematics teaching and to bring out
the modification in their behaviour and
prepared to teach 5 or 7 pupil in 5 to 10
minutes is known as

(1) Macro Teaching Approach
(2) Micro Teaching Approach
(3) Herbertian Approach

(4) Morrison Approach

Which of the following is not an
approach of writing instructional
objectives ?

(1) Robert Mager’s Approach

(2) Robert Miller’s Approach

(3) RCEM Approach

(4) NIPD Approach

Out of the following, which one is the
example of open question in
Mathematics ?

(1) What are the factors of 10 ?

(2) What is the perimeter of rectangle
having side 20 and 10 cm ?

Find a set of 6 numbers with a
median of 4.

3

(4) What do the interior angles of a

triangle add up to ?

03



125.

126.

127.

128.

129.

130.

03

(0.623)% - (0.623 x 0.377) + (0.377) 2
(0.623)° + (0.377) 3

TR :
1) 4 ) 3
3) 2 @ 1
s -
1+24+2
o T 2
a g
(1) % @) %
3) % @ 1
[0.289 —
0.00121 )
) %f‘ll @) %3
289 170
3) 225 Ay Et
@ = @ =
2 T3 T AR & TR

(1) 37 &.9.37. Td H4.9.37. & a1
(2) S HA.9.31. T 4.9.3. o 3=
(3) I T.U.3. T A.9.3. HITHGA
(4) I A.9.37, 6 H.9.31: % 9@

6480 < WTSTeh! Sl TheT WEAT 2 :
(1) 50 (2) 40
3) 30 4) 20
0.23 ST E
o 123 23
iy 2 9y 23
(1) - (2) o5
230 23
2 P 4y =
3) 999 @) 101
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125. (0.623)% - (0.623 x 0.377) +(0.377) 2

126.

127.

128.

129.

130.:

(0.623)° +(0.377) 3

5 1
V5 +1

equals :
(1) 4 2) 3
(3) 2 ) 1
541
If a= and b =
J5-1
1+b 412
2 a’ equals :
B bE '
gl
5 7
1§ = By L
(D = (2) :
3) % @ 1
0.289
000121 “9"ls:
4
@ =2 @

11

11

Product of two numbers is equal to :

(1) sum of their L.C.M. and G.C.D.

(2) difference of their L.C.M. and
G.CD.

(3) product of their L.C.M. and G.C.D.

(4) ratio of their L.C.M. and G.C.D.

The total number of divisors of 6480
are :
(1) 50

(2) 40
3) 30 4 20
0.23 isequalto:
m = ®» =
3) % @ =
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131.

" (3) 1.5m

132.

133.

A boy of height 90 cm starts walking
away from the base of a lamp post at a
speed of 1.2 m/s. If the lamp is 4.5 m
above the ground, the length of his
shadow after 4 seconds is

(1) 1.6m 2) 1.2m
4) 1.4m

In the adjoining figure, the line segment
PQ is parallel to side AC of triangle
ABC and it divides the triangle into two
parts having equal area, then the ratio
AP

Eequals:
A
£
B Q C
1
(1) 7 (2) el
1 2-42
3) B 4) 5

Which of the following statements is true ?

(1) If corresponding angles of two
quadrilaterals are equal, then their
corresponding sides are in the
same ratio.

(2) If corresponding sides of two

quadrilaterals are equal, then their

corresponding angles are equal.

(3) If polygon A is similar to polygon

B, & polygon B is similar to

polygon C, then polygon A is

similar to polygon C.

(4) The ratio of any two corresponding

sides in two equilateral triangles is

always not the same.

03
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e m fo & =fg 39 i Breem 21 3.
Td £POQ = 120° & @ @S PRQ I
@) TR @

(1) %(44—21\/5) @)

3) %(88\5-21) @ 31_1(83\/5-21)-
@ ™ o o owEifea &= %1 9 s
U, SEfh ADC, AEB T8 BFC 31ded &
W IH ™ AN AC, AB @ BC
21 e s AB=2.83.1., BC= 1431

%5(88—21\[5)

* B
2883, )
}_'1‘

(1) 13294 Tz}l';glj'?m.

(3) 2.1m¥.m. (4) 6.3md.H.
f@ ™ fom & 5 9., frewn et g9 B
PQ U 8 R et Sfler & | PWE Q
forgatl W g9 A wf-tEm fog T W
et &, @ TP A eag @ Y. F @t

P
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134.

135.

136.

In the given figure; if radius of the
circle is 21 cm and £ POQ is 120°, then
area of segment PRQ in (cm)? is :

1) Z@-213) @ 2 @8-213)

3) %(88\/5-21) ) %(38\5-21)
In the given figure, find the perimeter
of the shaded region, where ADC, AEB
and BFC are semi-circles on diameters
AC, AB and BC respectively. Given

AB=28cm,BC= l.ﬁli)cm.

i

[N, - =
¥
EC““‘ 1.4 cm '“”‘E
(1) 132cm (2) 26.4cm
(3) 2.Itcm 4) 6.3rcm

In the given figure, PQ is a chord of
length 8 cm of a circle of radius 5 cm.
The tangents at P and Q intersect at a

point T, then the length TP in cm is
' P
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138.

139.
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141. =f2

142.

(3) Y uE TE

=1 Waes Trftenton

6x-9y=12Td

8 —4x + 6y =0HI

(1) sAfedagag | ) IFAEAg |
3) FETATHR | (4) TAQFA LN |
Hﬁﬂ'ﬂﬁWSx—'i:Zx?aiﬂﬁpqéq'ﬁ
A a8 e R 9& (2p - 5)-! W@
(2q-5)"' 8, it

(1) 142 +5x+1=0
(2) 14x2-5x+1=0

- (3) X2+5x+14=0

4) x2-x-14=0

W1/3y+1_+1 = J;%H\Ff@ﬁ
() YIAAATA  (2) A< HA
(4) e Th A
e R
6-x—-x2) >0 Al -
() x<-3 2) x>2
(B) 3<x<-2 4) 3<x<2

1 1 1 ¥ g .

x+p+x+q r

T oeg frda R S &, A= A |
ST TR ?

(1) p+q=2r (2) p+q=-2r
(3) p+q=0 (4) p=r—q
fed T fomr % o T OABC @ 990 %
wqufs OPBQ H =1 gam 7 | AR
OA = 20 8.1, a1 swEifha & &1 i
ﬁ-‘ﬁ.ﬁfﬁtﬁﬂ'@fﬂ: '

A P

(1) 228%— 2) 220m

3) 110n @ 2282
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137.

138

139.

140.-

141..

142.

The set of linear equations :
6x -9y =12

8 —4x + 6y =0 has

(1) unique solution

(2) infinitely many solutions
(3) no solution

(4) only two solutions

. If p and q are the roots of 5x — 7 = 2x2,
then the equation whose roots are
(2p - 5)~! and (2q-5)'is:

(1) 14x2+5x+1=0
(2) 14x2-5x+1=0
3) x2+5x+14=0
4) 2-x-14=0

The number of roots, the equation

J3y+l ¢ 1= J; has :

(1) two unequal roots
*(2) infinite roots
(3) noroot .
(4) exactly one roo
For real values of x, (6 —x — x2) >0 if
(1) x<-3 2) x>2
(3) 3<x<-2 4) -3<x<2
' 1 1
o =— are equal
x+p x+q r
in magnitude and opposite in sign, then
which of the following is true ?
() p+q=2r © (2) p+q=-2r
(3 p+q=0 @ p=r-q

In the given figure, a square OABC is
inscribed in a quadrant of the circle
OPBQ. If OA = 20 cm, then shaded
area in sq. cm is :

Qr

If roots of

A P

) 228% @) 220m
3) 110n 4) 223%

03
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145.

146.
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148.

149.

150.
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T T Soft 31 9 9E o B T W m e

1 AT S B, T ST n UG T AT G :

(1) no(n—m) ) na(n+m)
m-—1 m-—1

no(n—m) @) no(m+n)
n-1 1-m

1 + 2 =l+l,ﬁmb,cﬁﬁ:

b-c b-a_a c
(1) G 3ot §

(2) TUIRR 3ol §
(3) BUcAs Fuf |
(4) THTR-TORR Soft §

T THIR AUt & midl U %1 m AT, I s
qa%nﬂef%'ﬂﬂ'ﬁ'{%,'cﬁ(m+n)ﬁqam:
(H 0 (2) mn

(3) 2T @) (1+m+n)

gfe 3 demail % TeT Uk HHIR 2T o
AW PIRATH PTE yE, A=A
HHATHE R ?

B vy
1) =+=-=2
()YB *

3)

@ Br=c

2 2
3) B+y=20 (4 BTHF:m
(1 + x2 + x)-3 % TR T x6 T 01 B :
(1) 9 @) 3
3) 1 4) 0
(x+a) S WA m e Hramp @
Hﬂqﬁﬁﬂ}l‘TQE‘T, n e I*%,‘cﬁ
{(x + 2)20 4 (x —@)2n) TR :

(1) 2(P*-Q) ~(2) 4PQ

(3) P2+Q? @ 2(P*+Q?
2x3~-1l12

( . ]%ﬁmﬁxﬁr%ﬁqaaﬁam
29 |

(1) 10 Q) 8

(3) 9 4) 11

TR 02— VT2 + 1 = 0B e & -
(1) i (2) 3rafdy

(3) (4) =R

143,

144.

145.

146.

147,

148.

149,

150.

Taking the first term of an A.P. to be a,
the sum of first m terms is zero, then the
sum of next n terms will be

(1) no(n-—m @) na(n-+m)
m-—1 m-1

3) no{(n-—m) @) na(m+n)
n-1 1-m

If . + 1 =l+l,ﬂ1ena,b,camin

b-c b-a a ¢

(1) AP (2) G.P.

(3) H.P. 4 AG.

In an A.P. the m times of m" term
is equal to n times the n™ term, its
(m + n)™ term will be _

(1) 0 @) mn

Gy 2t 4) (1+m+n)
o .

Between two quantities if o is one
arithmetic mean, and B and 7y are two
geometric means, then which of the
following is true ?

(1)'E+I=2a @ Br=o
Y B
2 2
@) B+y=20 @ L g
Y B

The co-efficient of x6 in the expansion
of (1 +x2+x)3is

(1) 9 2 3

3) 1 4 0

In the expansion of (x + a)?, the sum of
odd terms is P and sum of even terms is
Q, n € I*, then {(x + a)?" + (x — a)?n}

equals :

(1) 2(P2-Q?) (2) 4PQ

(3) P2+Q2 4) 2(P2+Q?)
28 -1)

In the expansion of ( . ] , which

term is independent of x ?

(O 10 2) 8

3) 9 4) 11

The roots of equation

Ox2 - \/7_2x+1=0are:
(1) rational (2) irrational
(3) imaginary (4) equal
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